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QUESTION 1

You have a FAS9000 with 10 TBNL-SAS drives that is replicating to a FAS8200 with 4 TB NL-SAS drives. An 80 TB
source volume on the FAS9000 is showing 50% storage efficiency. After that volume mirror is initialized, the FAS8200
destination volume is showing only 10% storage efficiency. 

In this scenario, why is storage efficiency reduced after replication? 

A. The different controller models require logical replication. 

B. The different sized drives use different efficiency methods. 

C. The source volume has inline deduplication enabled. 

D. The destination volume has post process compression enabled. 

Correct Answer: B 

 

QUESTION 2

You must back up and replicate a Microsoft SQL server using SnapProtect in your clustered Data ONTAP 

environment. Which three components must be correctly installed and configured? 

(Choose three.) 

A. SnapDrive for Windows 

B. On Command Workflow Automation 

C. On Command Unified Manager 6.0 

D. SnapProtect v10 

E. SnapProtectiDataAgent 

Correct Answer: BCE 

 

QUESTION 3

You have downloaded a user-created OnCommandWorkFlow Automation (WFA) content pack from the 

NetApp communities Web site and wantto import it into your environment. 

Which two statements are true in this scenario? 

(Choose two.) 

A. The file must be imported through the WFA Web portal. 

B. You must unpack the zip file before importing it. 

NS0-526 VCE Dumps | NS0-526 Practice Test | NS0-526 Exam Questions                                2 / 6

https://www.pass4itsure.com/ns0-526.html
https://www.pass4itsure.com/ns0-526.html
https://www.pass4itsure.com/ns0-526.html


https://www.pass4itsure.com/ns0-526.html
2024 Latest pass4itsure NS0-526 PDF and VCE dumps Download

C. The .exe file can be run directly onthe WFA server. 

D. The .obj file can be placed directly in the content folder on the WFA server. 

Correct Answer: AC 

 

QUESTION 4

You create a Snapshot copy of a NetApp volume in either OnCommand System Manager or through the ONTAP CLI. 

In this scenario, what happens? 

A. A redirect-on-write Snapshot copy is created and stored within the volume. 

B. A copy-on-write Snapshot copy is created and stored within the volume. 

C. Aredirect-on-write Snapshot copy is created and stored within the aggregate. 

D. A copy-on-write Snapshot copy is created and stored within the aggregate. 

Correct Answer: B 

 

QUESTION 5

You asked a colleague tocreate a new SnapMirror replication relationship of type "Vault" between two SVMs on
separate clusters. You want to verify that the SVMs are healthy and updating on a particular schedule. 

What are two ways to accomplish this task? (Choose two.) 

A. Use OnCommand System Manager on the source cluster for verification. 

B. Use OnCommand System Manager on the destination cluster for verification. 

C. Use the ONTAP CLI on the destination cluster and issue the snapmirror show ?ields healthy, schedule command. 

D. Use the ONTAP CLI on the source cluster and issue the snapmirror show ?ields healthy, schedule command. 

Correct Answer: AD 

 

QUESTION 6

Which technology uses synchronous replication? 

A. SnapMirror XDP 

B. FabricPool 

C. MetroCluster mirrored aggregate 

D. SVM DR 
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Correct Answer: A 

 

QUESTION 7

Network bandwidth between your the primary and secondary sites is limited. You believe that data compression
combined with volume SnapMirror would help solve this problem. In this scenario, which statement is correct? 

A. Data compression can be enabled on the source storage system and will remain intact through SnapMirror. 

B. A SnapMirror source cannot becompressed but the destination volume can be. 

C. Data compression and SnapMirror are incompatible. 

D. Compression can be enabled independently between the source and the destination. 

Correct Answer: A 

 

QUESTION 8

You are implementing version flexible SnapMirror in a clustered Data ONTAP environment. Which type of SnapMirror
policy would be used? 

A. sync-mirror 

B. version-flexible 

C. async-mirror 

D. vault 

Correct Answer: C 

 

QUESTION 9

Which two tools would you use to verify that an Oracle database has an application- consistent snapshot taken?
(Choose two.) 

A. SnapManager for Oracle 

B. OnCommand System Manager 

C. SnapCenter 

D. OnCommand Unified Manager 

Correct Answer: AC 

 

QUESTION 10
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Which product delivers application-consistent recovery across local and remote sites? 

A. SnapCenter 

B. OnCommand Unified Manager 

C. OnCommand System Manager 

D. SnapDrive 

Correct Answer: D 

 

QUESTION 11

Your customer is concerned that his volume might run out of space. Which two volume command options would be
used to resolve this problem? 

(Choose two.) 

A. snapshot autodelete 

B. autosize 

C. space-guarantee 

D. filesystem-size-fixed 

Correct Answer: AB 

 

QUESTION 12

You want to modify the existing Snapshot copy schedule to allow for more granularity in your ability to recover data after
a corruption or loss. 

In this scenario, which two tools allow you to accomplish this task (Choose two.) 

A. OnCommand System Manager 

B. OnCommand Unified Manager 

C. NetApp SnapCenter 

D. ONTAP CLI 

Correct Answer: BD 

 

QUESTION 13

How are the FC-VI links cabled in MetroCluster for ONTAP? 

A. one cable to each of the two local FC switches 
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B. controller A is cabled to FC switch A, controller B has both cabled to FC switch B 

C. directly to the corresponding local HA partner 

D. directly to the corresponding remote HA partner 

Correct Answer: A 

 

QUESTION 14

A Windows user requests assistance to restore afile on a CIFS share that they have mistakenly deleted. Which tool
would restore the deleted file? 

A. Windows Shadow Copy Client 

B. OnCommand Unified Manager 

C. OnCommand Systems Manager 

D. Windows Unified Host Utilities 

Correct Answer: A 

 

QUESTION 15

A client has a 2 TB volume and has enabled the function to automatically delete Snapshot copies in scenarios where
capacity will be exceeded. They have set the trigger for this action to the volume | snap_reserve value. 

In this scenario, what would trigger this function? 

A. The volume reaches 95%. 

B. The volume reaches 95% and the space_reserve is at capacity. 

C. The snap_reserve reaches capacity. 

D. The volume reaches 98% and the snap_reserve is at capacity. 

Correct Answer: D 
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